Logarithms/Exponential

1. A curve has equation  y = log2 (x + 8) – 1.

    Find the coordinates of the points where this curve cuts the x and y axes.

2. A curve has equation y = 2log3 (2x + 27) –  4. 

    Find the coordinates of the points where this curve cuts the x and y axes.

3. A curve has equation  y = 32x – 9. 

    Where does this curve cross the x and y axes.

4. A curve has equation y = 23x – 16.

    Find the coordinates of the points where 

    this curve cuts the x and y axes.
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5. The diagram opposite shows 

    the graph of y= ax, a > 1.

(a) Sketch the graphs of

(i) y = a-x
(ii) y = 2a-x
(iii) y = a2 – x 
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6. (a)  The diagram shows y = ax, a > 0.

          On the same diagram sketch the graphs of 

              (i) y = a-x         (ii) y = 4a-2x
    (b) Show that the x-coordinate of the point of

          intersection of these graphs is   x = loga 4.
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7. (a)  The diagram shows y = ax, a > 0.

          On the same diagram sketch the graphs of 

              (i) y = 3a-x         (ii) y = a-3x
    (b) Show that the x-coordinate of the point of

          intersection of these graphs is   

          x = ½loga ⅓.

8. Show that the x-coordinate of the point of intersection of the graphs 

    y = e-x and y = 6e-4x is  x = ⅓loge 6.
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 9.  The diagram shows part of the graph of

      y =log5 x.

(a) Find a and b.

(b) Sketch the graph of y = log5 5x.

(c) Sketch the graph of y = log5 x2
(d) Sketch the graph of y = log5 
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10. The diagram shows part of the graph of

      y = log4 x.

(a) Find a.

(b) Sketch the graph of y = log4 4x.

(c) Sketch the graph of y = log4 x3

11. The diagram shows the graph of 

      y = logb (x + a).

      Find the values of a and b.


12. The diagram shows the graph of

      y = alog3 (x – b).

      Find a and b.
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